
Subject: Re: Ripple Inn
Posted by PakProtector on Fri, 21 Jan 2005 20:00:33 GMT
View Forum Message <> Reply to Message

I wil assume a few idealizations with this explanation. The primary one being that the CCS
operates to deliver a constant curent to the triode we are amplifying voltage signal with. There are
tww outputs, one to the plate, and the other to the load( our amplifier, and small resistor next to
the mute switch in the schematic ). Since these loads will consume AC, the current delivered to
the CCS will be our regulated amount + {load consumption}. The PS is going to have to deliver
what is consumed by the load as ideally as is possible. The CCS will act to isolate the triode from
this, but it *WON'T* be ideal. So, the better the PS can deal with a slightly variable load, the better
our voltage amp will perform. It is a small 'expense' IMO, but an audibly significant one I
suspect.regards,Douglas
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